M=d /o= =
2kg X 102 / HiA
3 kg X 82 /HIA

EIRTLIE 2%

|

I
=]

[ 4

x|

A
—

ol
ud
KO

H

15 A o OB
2] 93 BAE A

X7 &

22



~ AF Ol
O 88U U AR Y
OIFIAIR 7=
(=] ancCckr (L
xH2 pSE-T: 0T AFX17| Ol e =200(1)Y =
= o 10 O AI‘-Q-OEF
°oTo AFEAIZ] | AR
Etxd
% (HoFF =8 HAH S22 3kg/10a AP
SiH|chy
13| OJLH
Ok= SMM ST OEM EUSSAE| 4kg/10a ey
A (QEa) il A M EUESHRE] 3kg/10a A
s ExnEy 2HHE 1071 EQMTR | 4kg/10a - -
AI- x
O AMES FoArg
1. O] S22 01| S|AGEK| OFA|ZT ARZESHO| 2t AFRSHYA|R,
2. ZFMEM = AN AR X7 EQF M| 202 AEst S Efnt ZF A0 FAAL,
OtE, HiF, 2 S)2| M0l F&Ho| /2 & UL

o=

BIEA] 7|&

3.0l U= 7|12 2ot
=

BI0| AL

A2 0|0f%l= 2E(H, S, 20 &
f= X7 ARESHIAI2.

23





